VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

WIRE STRIPPING MACHINE
INSTRUCTION MANUAL

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODEL:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Operation Guide video ‘ l; -

Technical Parameter

Model Dimension Weight Stripping Range
(L*W*H mm) (kg) (mm)
SD-25 130%128x300 3.4kg 2 1.5~9 25

Note: this machine is not applicable to silicone rubber cables or armored cables.



F

130

128

00E



Parts List

L] H 1
T e 2
5 ] g
@ o
(DANGER
® 3
KEEP HANDS CLEAR
9 ]
[ [ Aesp+—+——+—8
2 1o = 7
| 4

1:M14 plastic nut for regulating blade up and down
2:M14 screw rod for regulating blade up and down

3:Handle
5: Nut for locking screw rod

7:10#Screw for connecting drill
9:Blade

4:Incoming panel
6:Feeding hole
8: Stripping rolling gear



Accessories

Details:

1. One 4# allen key 2. One 5# allen key

3. One 6# allen key 4. One feeding plate

5. Five D8 gaskets

6. Four M8 nut 7. Four M8*35 screw

8. One M8*16 inner-hexagon screw

9. One 10#screw for connecting the electric drill

10. One blade



Operation Instruction

1.Select the appropriate feeding hole according to the wire diameter.

© @)

®1.5~@5

$6—~013

2. When the diameter of the wires to be treated does not exceed 13mm,
select the two hole incoming board.

P14~925




3. When the diameter of the wires to be treated exceed 13mm, select the
one hole incoming board.

4.During wire stripping, the center of the blade must be collinear with the
center of the rolling gear (as shown below).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear



5. Adjust the height of the blade. It is best to make the blade scratch the
wire skin without damaging the copper core by rotating the plastic handle
screw (clockwise rotation is downward and counterclockwise rotation is
upward), as shown below.

6.When stripping, adjust the height of the feeding plate according to the
thickness and hardness of the wire (generally, the feeding panel should be
adjusted higher for thick and hard wires and lower for soft and thin wires).In
this way, the wire is not easy to be eccentric when stripping.

()
()



7. When the diameter of wire to be treated does not exceed 20mm, the two
rolling gears need not be separated.

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm,
the two rolling gears
need not be separated

When the diameter of the wire to be treated exceeds 20mm, the two rolling
gears need to be separated by loosening the two screws in the gears.

When the
diameter of
wire to be
treated
exceeds 20mm,

When the diameter of r
wire to be treated

exceeds 20mm, the two ¢

rolling gears need to be

separated by loosen the

two screws in the gears.



8.1f the machine cannot strip the wire, there may be several reasons:

(. The diameter of the stripped wire is too small (the diameter of the wire
to be treated, including the outer skin, shall not be less than 1.5mm).
(@The center of the blade is not on the same line as the center of the rolling
gear.

(3). The blade is not sharp.

9.When the machine is operated by hand, install the handle (as shown in
the figure)

-10 -



10.When the machine is driven by an electric drill, remove the handle first,
then install the connecting screw for the drill(Do not install a gasket when
installing the screw), and use the electric drill last.

11.When it is necessary to remove the screw for the drill (as shown in the
figure above), install the handle and tighten it with a wrench at first, then
hold the handle with one hand and clamp the screw with the drill by the
other hand (be sure to start counterclockwise), so that the screw for drill

can be removed.

-1 -



NOTE:Never put your hand in when the machine is running (you must stop
the machine before checking, debugging, and troubleshooting the
machine). To avoid cutting your hand, do not touch the blade directly with

your hand.

-12 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-13 -



-14 -



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

MACHINE A DENUDER LES FILS
MANUEL D'INSTRUCTIONS

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODELE : SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Operation Guide video ‘ l; -

Technical Parameter

. Dimension ) Gamme de décapage
Poids (k
Modele (Lx1xHmm) oids (kg) (mm)
SD-25 130%128x%300 3,4 kg 2 1,560 25

Remarque : cette machine n'est pas applicable aux cables en caoutchouc de
silicone ou aux cables blindés .



F

130

128

00E



Parts List

P =
[ H 1
T7ef 2
5 i | —
(DANGER
® .
KEEP HANDS CLEAR
9 (!U
| [ &t T 8
6— & ‘

1 : écrou en plastique M14 pour régler la lame de haut en bas

2: Tige filetée M14 pour réguler la lame vers le haut et vers le bas
3 : Poignée 4 : Panneau entrant

5 : Ecrou pour tige filetée de blocage 6 : Trou d'alimentation

7:10#Vis pour connecter la perceuse 8: Engrenage de dénudage 9:
Lame



Accessoires

Détails:

1. Une clé Allen 4# 2. Une clé Allen 5#

3. UnecléAllende 6# 4. Une plaque d'alimentation

5. Cinqjoints D8

6. Quatre écrous M8 7. Quatre vis M8*35

8. Une vis hexagonale intérieure M8*16

9 . Une vis 10# pour connecter la perceuse électrique

10. Une lame



Operation Instruction

1. Sélectionnez le trou d'alimentation approprié en fonction du diamétre du
fil .

© @)

®1.5~@5

= =1 (O)

$6—~013

4. Lorsque le diamétre des fils a traiter ne dépasse pas 13 mm,
sélectionnez la carte entrante a deux trous.

()
()




5. Lorsque le diamétre des fils a traiter dépasse 13 mm, sélectionnez la
carte entrante a un trou .

4. Lors du dénudage du fil, le centre de la lame doit étre colinéaire avec le
centre de I' engrenage roulant (comme indiqué ci-dessous).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear



5. Réglez la hauteur de la lame . |l est préférable de faire en sorte que la
lame gratte la peau du fil sans endommager le noyau en cuivre en faisant
tourner la vis de la poignée en plastique (la rotation dans le sens des
aiguilles d'une montre est vers le bas et la rotation dans le sens inverse
des aiguilles d'une montre est vers le haut) , comme indiqué ci-dessous .

6. Lors du dénudage, ajustez la hauteur de la plaque d'alimentation en
fonction de I'épaisseur et de la dureté du fil (en général, le panneau
d'alimentation doit étre réglé plus haut pour les fils épais et durs et plus bas
pour les fils mous et fins). De cette fagon, le fil ne risque pas d'étre
excentré lors du dénudage .



()
()

7. Lorsque le diamétre du fil a traiter ne dépasse pas 20 mm , les deux
engrenages roulants n'ont pas besoin d'étre séparés .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm
the two rolling gears
need not be separated

Lorsque le diamétre du fil a traiter dépasse 20 mm, les deux engrenages
roulants doivent étre séparés en desserrant les deux vis des engrenages.



When the
diameter of
wire to be
treated
exceeds 20mm,
When the diameter of
wire to be treated
exceeds 20mm, the two
rolling gears need to be
separated by loosen the
two screws in the gears.

8. Si la machine ne parvient pas a dénuder le fil, il peut y avoir plusieurs
raisons :

(. Le diamétre du fil dénudé est trop petit (le diamétre du fil a traiter, y
compris la peau extérieure, ne doit pas étre inférieur a 1,5 mm) .

2 Le centre de la lame n’est pas sur la méme ligne que le centre du
mécanisme de roulement.

3. La lame n'est pas tranchante .

9. Lorsque la machine est utilisée a la main, installer la poignée (comme
indiqué sur la figure)

-10 -



10. Lorsque la machine est entrainée par une perceuse électrique, retirez
d'abord la poignée, puis installez la vis de connexion de la perceuse
(n'installez pas de joint lors de l'installation de la vis) et utilisez la perceuse
électrique en dernier.

-1 -



@ "
7 6 5 o | |

11. Lorsqu'il est nécessaire de retirer la vis de la perceuse (comme indiqué
sur la figure ci-dessus), installez la poignée et serrez-la d'abord avec une
clé, puis tenez la poignée d'une main et serrez la vis avec la perceuse de
I'autre main (assurez-vous de commencer dans le sens inverse des
aiguilles d'une montre), afin que la vis de la perceuse puisse étre retirée.

-12-



REMARQUE : Ne mettez jamais votre main lorsque la machine est en
marche (vous devez arréter la machine avant de vérifier, de déboguer et
de dépanner la machine). Pour éviter de vous couper la main , ne touchez
pas la lame directement avec votre main .

-13 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-14 -



-15-



VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique
www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

ABISOLIERMASCHINE
BEDIENUNGSANLEITUNG

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODELL:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Operation Guide video ‘ l; -

Technical Parameter

Dimension Gewicht Abisolierbereich
Modell

(L*B*H mm) (kg) (mm)
SD-25 130%x128x%300 3,4 kg 2 156~ o 25

Hinweis: Diese Maschine ist nicht fiir Kabel aus Silikonkautschuk oder gepanzerte
Kabel geeignet .



F

130

128

00E



Parts List

P =
[ H 1
T &f 2
5 ~
(DANGER
® y
KEEP HANDS CLEAR
9 (!U
[ [ &} T 8
s—dll & |l

1: M14 Kunststoffmutter zum Regulieren der Klinge nach oben und
unten

2: M14-Gewindestange zum Regulieren der Klinge nach oben und unten
3: Griff 4:Eingehendes Panel
5: Mutter fiir Feststellschraubenstange 6: Zufiihrloch

7:10#Schraube zum Anschliel3en des Bohrers 8: Abstreifwalze 9 :Klinge



Zubehor

Einzelheiten:

1. Ein 4# Inbusschlussel 2. Ein 5# Inbusschlussel

3. Ein 6# Inbusschlissel 4. Eine Futterungsplatte

5. Funf D8-Dichtungen

6. Vier M8-Muttern 7. Vier M8*35 Schrauben

8, Eine M8*16 Innensechskantschraube

9. Eine 10 # -Schraube zum Anschluss der Bohrmaschine
10, eine Klinge

Operation Instruction

1. Wahlen Sie je nach Drahtdurchmesser das entsprechende
Zufuhrungsloch aus .



®1.5~@5

$6—~013

6. Wenn der Durchmesser der zu behandelnden Drahte 13 mm nicht
Uberschreitet, wahlen Sie die Eingangsplatine mit zwei Lochern.

7. Wenn der Durchmesser der zu behandelnden Drahte 13 mm
Uberschreitet, wahlen Sie die Eingangsplatine mit einem Loch .

4. Beim Abisolieren der Drahte muss die Mitte der Klinge auf einer Linie mit

-6-



der Mitte des Rollzahnrads liegen (siehe Abbildung unten).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear

5. Passen Sie die Hohe der Klinge an . Am besten lasst sich die Klinge
durch Drehen der Kunststoffgriffschraube (Drehung im Uhrzeigersinn nach
unten und Drehung gegen den Uhrzeigersinn nach oben) an der Drahthaut

-7-



kratzen, ohne den Kupferkern zu beschadigen , wie unten gezeigt .

6. Passen Sie beim Abisolieren die Héhe der Zuflhrplatte entsprechend
der Dicke und Harte des Drahtes an (im Allgemeinen sollte die Zufiihrplatte
fur dicke und harte Drahte héher und fir weiche und dinne Drahte
niedriger eingestellt werden). Auf diese Weise kann der Draht beim
Abisolieren nicht so leicht exzentrisch werden .

(")
)

A

7. Wenn der Durchmesser des zu behandelnden Drahtes 20 mm nicht

-8-



Uberschreitet , Die beiden Walzlager missen nicht getrennt werden .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm,
the two rolling gears
need not be separated

Wenn der Durchmesser des zu behandelnden Drahtes 20 mm
Uberschreitet, missen die beiden Rollzahnrader durch Losen der beiden
Schrauben in den Zahnradern getrennt werden.

When the
diameter of
wire to be
treated
exceeds 20mm,

When the diameter of r
wire to be treated

exceeds 20mm, the two ¢

rolling gears need to be

separated by loosen the

two screws in the gears.



8. Wenn die Maschine den Draht nicht abisolieren kann, kann dies
mehrere Griinde haben:

(D. Der Durchmesser des abisolierten Drahtes ist zu klein (der
Durchmesser des zu behandelnden Drahtes, einschlieRlich der Auf3enhaut,
darf nicht weniger als 1,5 mm betragen) .

2 Die Mitte der Klinge liegt nicht auf derselben Linie wie die Mitte des
Rollzahnrads.

3. Die Klinge ist nicht scharf .

9. Wenn die Maschine von Hand bedient wird, Montieren Sie den Griff
(wie in der Abbildung gezeigt)

.3

-10 -



10.Wenn die Maschine von einer elektrischen Bohrmaschine angetrieben
wird, entfernen Sie zuerst den Griff, installieren Sie dann die
Verbindungsschraube fur die Bohrmaschine (installieren Sie beim
Installieren der Schraube keine Dichtung) und verwenden Sie die
elektrische Bohrmaschine zuletzt.

11. Wenn die Schraube fUr den Bohrer entfernt werden muss (wie in der
Abbildung oben gezeigt), montieren Sie den Griff und ziehen Sie ihn
zunachst mit einem Schraubenschlissel fest. Halten Sie dann den Griff mit
einer Hand fest und klemmen Sie mit der anderen Hand die Schraube mit
dem Bohrer fest (unbedingt gegen den Uhrzeigersinn beginnen), sodass
die Schraube fiir den Bohrer entfernt werden kann.

-1 -



HINWEIS: Stecken Sie niemals Ihre Hand in die Maschine, wenn sie lauft
(Sie missen die Maschine anhalten, bevor Sie sie Uberprifen, debuggen
und Fehler beheben). Um Schnittverletzungen zu vermeiden , Berlhren
Sie die Klinge nicht direkt mit der Hand .

-12 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-13 -



-14 -



VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

MACCHINA SPELAFILI
MANUALE DI ISTRUZIONI

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODELLO:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Operation Guide video ‘ l; -

Technical Parameter

Dimensione
(Lunghezza*Larg Intervallo di spogliatura
Modell P k
odeflo hezza*Altezza eso (kg) (mm)
mm)
Codice Dimensioni: 34k o 15~ o 25
SD-25 | 130x128x300 Al !

Nota: questa macchina non & adatta ai cavi in gomma siliconica o ai cavi armati .




F

130

128

00E



Parts List

pa “'\
[ H 1
T eF 2
(DANGER
® 3
KEEP HANDS CLEAR
9 1(}1_‘
| | f -»%--—-—-_8
2 @)—Kj —— 7
6—ll@ ||l
il & 4

1: Dado in plastica M14 per regolare la lama su e giu

2: Barra filettata M14 per regolare la lama su e giu
3:Maniglia 4: Pannello in arrivo

5: Dado per vite di bloccaggio asta 6: Foro di alimentazione

7:10#Vite per collegamento trapano 8: Ingranaggio rotante di spogliatura
9: Lama



A ccessori

Dettagli:

1. Una chiave a brugola da 4# 2. Una chiave a brugola da 5#

3. Una chiave a brugola da 6# 4. Un piatto di alimentazione

5. Cinque guarnizioni D8

6. Quattro dadi M8 7. Quattro viti M8*35

8. Una vite esagonale interna M8*16

9 . Una vite da 10# per il collegamento del trapano elettrico

10. Una lama



Operation Instruction

1. Selezionare il foro di alimentazione appropriato in base al diametro del

filo .
©

?1.5~95 )

(C))

$6—~013

8. Quando il diametro dei fili da trattare non supera i 13 mm, selezionare

la scheda in entrata a due fori.

(@®))




9. Quando il diametro dei fili da trattare supera i 13 mm, selezionare la
scheda in entrata con un foro .

4. Durante la spelatura dei fili, il centro della lama deve essere allineato
con il centro dell'ingranaggio di rotolamento (come mostrato di seguito).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear



5. Regolare |'altezza della lama . E meglio far si che la lama graffi la pelle
del filo senza danneggiare il nucleo di rame ruotando la vite della maniglia
di plastica (la rotazione in senso orario & verso il basso e la rotazione in
senso antiorario € verso l'alto) , come mostrato di seguito .

6. Durante la spellatura, regolare l'altezza della piastra di alimentazione in
base allo spessore e alla durezza del filo (in genere, il pannello di
alimentazione deve essere regolato piu in alto per fili spessi e duri e piu in
basso per fili morbidi e sottili). In questo modo, il filo non & facile da essere
eccentrico durante la spellatura .



()
()

7. Quando il diametro del filo da trattare non supera i 20 mm , non &
necessario separare i due ingranaggi rotanti .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm
the two rolling gears
need not be separated

Quando il diametro del filo da trattare supera i 20 mm, € necessario
separare i due ingranaggi di rotolamento allentando le due viti presenti
sugli ingranaggi.



When the
diameter of
wire to be
treated
exceeds 20mm,
When the diameter of
wire to be treated
exceeds 20mm, the two
rolling gears need to be
separated by loosen the
two screws in the gears.

8. Se la macchina non riesce a spellare il filo, le cause potrebbero essere
diverse:

@. Il diametro del filo spelato & troppo piccolo (il diametro del filo da
trattare, compresa la guaina esterna, non deve essere inferiore a 1,5 mm) .

@ Il centro della lama non & sulla stessa linea del centro dell'ingranaggio di
rotolamento.

3. La lama non & affilata .

9. Quando la macchina viene azionata manualmente, installare la
maniglia (come mostrato in figura)

-10 -



10. Quando la macchina € azionata da un trapano elettrico, rimuovere
prima la maniglia, quindi installare la vite di collegamento per il trapano
(non installare una guarnizione durante l'installazione della vite) e utilizzare
il trapano elettrico per ultimo.

-1 -



.
; ) saie

11. Quando & necessario rimuovere la vite per il trapano (come mostrato
nella figura sopra), installare la maniglia e stringerla prima con una chiave,
quindi tenere la maniglia con una mano e bloccare la vite con il trapano
con l'altra mano (assicurarsi di iniziare in senso antiorario), in modo che la

vite per il trapano possa essere rimossa.

-12-



I

NOTA: non mettere mai le mani quando la macchina ¢ in funzione (&
necessario arrestare la macchina prima di controllare, eseguire il debug e
risolvere i problemi della macchina). Per evitare di tagliarsi la mano , non
toccare la lama direttamente con la mano .

-13 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-14 -



-15-



VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica
www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electrénica www.vevor.com/support

MAQUINA PELACABLE
MANUAL DE INSTRUCCIONES

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODELO: SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Technical Parameter

Dimension Gama de desmontaje
Modelo | (Largo x Ancho x | Peso (kg) J
(mm)
Alto mm)
SD-25 130%128x300 3,4 kilos 2 1,56 — o 25

Nota: esta maquina no es aplicable a cables de caucho de silicona ni a cables

blindados .




F

130

128

00E



Parts List

P N
[ ] 1
et 2
(DANGER)
® ) .
KEEP HANDS CLEAR
9 (!U
| [ = = 8
T s 4

1: Tuerca de plastico M14 para regular la cuchilla hacia arriba y hacia
abajo

2: Varilla roscada M14 para regular la cuchilla hacia arriba y hacia abajo
3:Manejar 4: Panel de entrada

5: Tuerca para bloquear la varilla del tornillo 6: Orificio de alimentacion

7:10#Tornillo para conectar taladro 8: Engranaje de rodadura pelador 9 :
Cuchilla



Accesorios

Detalles:

1. Unallave Allende 4 n.° 2. Una llave Allen de 5#

3. Unallave Allende 6# 4. Una placa de alimentacion
5. Cinco juntas D8

6. Cuatro tuercas M8 7. Cuatro tornillos M8*35

8. Un tornillo hexagonal interno M8*16

9. Un tornillo n.° 10 para conectar el taladro eléctrico .

10. Una cuchilla



Operation Instruction

1. Seleccione el orificio de alimentacién apropiado segun el diametro del
alambre .

© @)

®1.5~@5

$6—~013

10.Cuando el diametro de los cables a tratar no supere los 13 mm,
seleccione la placa de entrada con dos orificios.




11.Cuando el diametro de los cables a tratar supere los 13 mm, seleccione
la placa de entrada con un solo orificio .

4. Durante el pelado de cables, el centro de la cuchilla debe estar colineal
con el centro del engranaje rodante (como se muestra a continuacion).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear



5. Ajuste la altura de la cuchilla . Es mejor hacer que la cuchilla raspe la
piel del cable sin danar el nucleo de cobre girando el tornillo de plastico del
mango (la rotacion en el sentido de las agujas del reloj es hacia abajo y la
rotacion en el sentido contrario a las agujas del reloj es hacia arriba) ,
como se muestra a continuacion .

6. Al pelar, ajuste la altura de la placa de alimentacién de acuerdo con el
grosor y la dureza del alambre (por lo general, el panel de alimentacion
debe ajustarse mas alto para alambres gruesos y duros y mas bajo para
alambres blandos y delgados). De esta manera, el alambre no se
descentra facilmente al pelar .



()
()

7. Cuando el diametro del alambre a tratar no exceda los 20 mm , No es
necesario separar los dos engranajes rodantes .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm
the two rolling gears
need not be separated

Cuando el diametro del alambre a tratar supera los 20 mm, es necesario
separar los dos engranajes rodantes aflojando los dos tornillos de los
engranajes.



When the
diameter of
wire to be
treated
exceeds 20mm,
When the diameter of
wire to be treated
exceeds 20mm, the two
rolling gears need to be
separated by loosen the
two screws in the gears.

8. Si la maquina no puede pelar el cable, puede haber varias razones:

(D. El diametro del cable pelado es demasiado pequefio (el diametro del
cable a tratar, incluida la capa exterior, no debe ser inferior a 1,5 mm) .

(2 El centro de la cuchilla no esta en la misma linea que el centro del
engranaje rodante.

®3). La cuchilla no esta afilada .

9. Cuando la maquina se opera manualmente, Instale el mango (como se
muestra en la figura)

-10 -



i

il
&/
&

10. Cuando la maquina sea accionada por un taladro eléctrico, retire
primero el mango, luego instale el tornillo de conexion para el taladro (no
instale una junta al instalar el tornillo) y utilice el taladro eléctrico por
ultimo.

-1 -



f ~ | i
’I:?‘ I ' A ‘ I . :1 \
= . . " d_ ‘,

11. Cuando sea necesario quitar el tornillo del taladro (como se muestra en
la figura anterior), instale el mango y apriételo con una llave primero, luego
sostenga el mango con una mano y sujete el tornillo con el taladro con la
otra mano (asegurese de comenzar en sentido antihorario), de modo que

se pueda quitar el tornillo del taladro.

-12-



I

NOTA: Nunca introduzca la mano cuando la maquina esté en
funcionamiento (debe detener la maquina antes de verificar, depurar y
solucionar problemas). Para evitar cortarse la mano , No toque la cuchilla
directamente con la mano .

-13 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-14 -



-15-



VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electrénica
www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

MASZYNA DO SCIAGANIA IZOLACJI Z
PRZEWODOW
INSTRUKCJA OBSLUGI

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.






VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODEL:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Technical Parameter

Wymiar Zakres rozbierania
Model (DL.*Szer.*Wys. Waga (kg)
(mm)
mm)
SD-25 130%128x%300 3,4 kg 2 1,56~ o 25

Uwaga: urzadzenie to nie jest przeznaczone do kabli z gumy silikonowej i kabli

pancernych .




F

130

128

00E



Parts List

a 1
T ef 2
(DANGER))
® o3
KEEP HANDS CLEAR
9 (!U
| [ [ & {1 8
T s 4

1:M14 plastikowa nakretka do regulacji potozenia ostrza w gore i w dot
2: Pret Srubowy M14 do regulacji potozenia ostrza w gore i w dét

3: Uchwyt 4:Panel przychodzacy

5: Nakretka do blokowania preta sruby 6: Otwor podajgcy

7:10#Sruba do tgczenia wiertta 8: Zdejmowanie kota zebatego 9: Ostrze

Akcesoria



Blizsze dane:

1. Jeden klucz imbusowy 4# 2. Jeden klucz imbusowy 5#

3. Jeden klucz imbusowy 6# 4. Jedna ptyta do karmienia

5, Pie¢ uszczelek D8
6. Cztery nakretki M8 7. Cztery sruby M8*35

8. Jedna sruba z tbem szesciokgtnym wewnetrznym M8*16
9, Jedna sruba 10# do podtagczenia wiertarki elektrycznej

10. Jedno ostrze

Operation Instruction

1. Wybierz odpowiedni otwér podajacy w zaleznosci od srednicy drutu .



®1.5~@5

$6—~013

12.Jezeli srednica przewoddw przeznaczonych do obrobki nie przekracza
13 mm, nalezy wybrac ptyte wejsciowg z dwoma otworami.

13.Jezeli srednica przewoddw przeznaczonych do obrobki przekracza 13
mm, nalezy wybraé ptyte wejsciowg z jednym otworem .
4. Podczas zdejmowania izolacji $rodek ostrza musi by¢ wspétliniowy ze

-6-



srodkiem mechanizmu tocznego (jak pokazano ponizej).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear

5. Dostosuj wysoko$¢ ostrza . Najlepiej jest, aby ostrze zarysowato
powtoke przewodu bez uszkadzania miedzianego rdzenia, obracajgc
plastikowg srube uchwytu (obrét zgodnie z ruchem wskazowek zegara

-7-



oznacza obrot w dot, a obrét w kierunku przeciwnym do ruchu wskazéwek
zegara oznacza obrot w gore) , jak pokazano ponizej .

6. Podczas zdejmowania izolacji nalezy dostosowaé wysoko$¢ ptyty
podajgcej do grubosci i twardosci drutu (zwykle panel podajgcy nalezy
ustawi¢ wyzej w przypadku grubych i twardych drutéw, a nizej w przypadku
miekkich i cienkich drutéw). W ten sposéb drut nie bedzie tatwo
ekscentryczny podczas zdejmowania izolacji .

(")
)

A



7. Jezeli srednica drutu poddawanego obrébce nie przekracza 20 mm , nie
ma koniecznosci rozdzielania dwoch kot tocznych .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm
the two rolling gears
need not be separated

Jezeli $rednica drutu poddawanego obrébce przekracza 20 mm, nalezy
rozdzieli¢ dwa kota zebate poprzez poluzowanie dwoch srub w kotach
zebatych.



When the
diameter of
wire to be
treated
exceeds 20mm,
When the diameter of
wire to be treated
exceeds 20mm, the two
rolling gears need to be
separated by loosen the
two screws in the gears.

8. Jezeli maszyna nie moze zdjgé izolacji z przewodu, przyczyn moze byé
kilka:

@. Srednica odizolowanego przewodu jest zbyt mata ($rednica przewodu
przeznaczonego do obrébki, wliczajgc zewnetrzng powtoke, nie moze byé
mniejsza niz 1,5 mm) .

@ Srodek topatki nie znajduje sie na tej samej linii co $rodek mechanizmu
tocznego.

(3. Ostrze nie jest ostre .

9. W przypadku obstugi maszyny recznie, zamontuj uchwyt (jak pokazano
na rysunku)

-10 -



10. Jesli maszyna jest napedzana wiertarkg elektryczng, najpierw zdejmij
uchwyt, nastepnie zamontuj $rube tgczacg wiertarke (nie zaktadaj
uszczelki podczas instalowania Sruby) i na koncu uzyj wiertarki
elektrycznej.

-1 -



| \ = o/
el L S [

11. Gdy zajdzie potrzeba wykrecenia $ruby wiertarki (jak pokazano na
rysunku powyzej), zamontuj uchwyt i dokre¢ go najpierw kluczem,
nastepnie przytrzymaj uchwyt jedng rekg i zacisnij srube wiertarkg druga
rekg (upewnij sie, ze zaczynasz w kierunku przeciwnym do ruchu
wskazéwek zegara), tak aby mozna byto wykreci¢ srube wiertarki.

-12-



UWAGA: Nigdy nie wktadaj reki do urzgdzenia, gdy jest ono uruchomione
(musisz je zatrzymac przed sprawdzeniem, debugowaniem i
rozwigzywaniem problemow). Aby unikng¢ skaleczenia reki , nie dotykaj
ostrza bezposrednio rekg .

-13 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-14 -



-15-



VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej
www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

DRAADSTRIPMACHINE
GEBRUIKSAANWIJZING

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODEL:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Technical Parameter

Stri het
Dimensie Gewicht r|pp<.an van ¢
Model (L*B*H mm) (kg) assortiment
? (mm)
SD-25 130%128x%300 3,4 kg 2 1,6~ 2 25

Let op: deze machine is niet geschikt voor siliconenrubberkabels of gepantserde
kabels .



F

130

128

00E



Parts List

P N
[ ] 1
et 2
(DANGER)
® ) .
KEEP HANDS CLEAR
9 (!U
| [ = = 8
T s 4

1:M14 kunststof moer voor het regelen van de bladbeweging omhoog en
omlaag

2: M14 schroefstang voor het regelen van het blad omhoog en omlaag
3:Handvat 4:Inkomend paneel
5: Moer voor borgschroefstang 6: Voedingsgat

7:10#Schroef voor het verbinden van de boor 8: Strippen van het
rollende tandwiel 9:Blad



Accessoires

Details:

1\

3.

5\

6.

Een 4# inbussleutel 2. Een 5# inbussleutel

Een 6# inbussleutel 4. Een voedingsplaat

Vijf D8 pakkingen

Vier M8-moeren 7. Vier M8*35 schroeven

8. Een M8*16 binnenzeskantschroef

9 .

Een 10# schroef voor het aansluiten van de elektrische boor



10. Eén mes

Operation Instruction

1. Selecteer het juiste invoergat op basis van de draaddiameter .

P6—~¢13

14.Wanneer de diameter van de te behandelen draden niet groter is dan
13 mm, kiest u voor de invoerplaat met twee gaten.



P14~925

15.Wanneer de diameter van de te behandelen draden groter is dan 13
mm, kiest u voor de invoerplaat met één gat .

4. Tijdens het strippen van de draad moet het midden van het blad in één
lijn liggen met het midden van het rollende tandwiel (zoals hieronder

weergegeven).



During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear

5. Pas de hoogte van het mes aan . Het is het beste om het mes de
draadhuid te laten krassen zonder de koperen kern te beschadigen door
de schroef van de plastic handgreep te draaien (draaien met de klok mee
is naar beneden en tegen de klok in is naar boven) , zoals hieronder

-8-



weergegeven .

6. Pas bij het strippen de hoogte van de voedingsplaat aan op basis van de
dikte en hardheid van de draad (over het algemeen moet het
voedingspaneel hoger worden afgesteld voor dikke en harde draden en
lager voor zachte en dunne draden). Op deze manier is de draad niet
gemakkelijk excentrisch bij het strippen .

()
()

7. Wanneer de diameter van de te behandelen draad niet groter is dan 20

-9-



mm , de twee rollende tandwielen hoeven niet gescheiden te worden .

the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm
the two rolling gears
need not be separated

Wanneer de diameter van de te behandelen draad groter is dan 20 mm,
moeten de twee rollende tandwielen van elkaar worden gescheiden door
de twee schroeven in de tandwielen los te draaien.

When the
diameter of
wire to be
treated
exceeds 20mm,

When the diameter of
wire to be treated
exceeds 20mm, the two
rolling gears need to be
separated by loosen the
two screws in the gears.

-10 -



8. Als de machine de draad niet kan strippen, kunnen er verschillende
redenen zijn:

(D. De diameter van de gestripte draad is te klein (de diameter van de te
behandelen draad, inclusief de buitenhuid, mag niet kleiner zijn dan 1,5
mm) .

(2 Het midden van het blad ligt niet op dezelfde lijn als het midden van het
rollende tandwiel.
(3). Het mes is niet scherp .

9. Wanneer de machine met de hand wordt bediend, monteer de
handgreep (zoals afgebeeld)

.3

-1 -



10. Wanneer de machine wordt aangedreven door een elektrische
boormachine, verwijdert u eerst de hendel en installeert u vervolgens de
verbindingsschroef voor de boormachine (plaats geen pakking bij het
installeren van de schroef) en gebruikt u als laatste de elektrische
boormachine.

11. Wanneer het nodig is om de schroef voor de boor te verwijderen (zoals
weergegeven in de afbeelding hierboven), monteer dan eerst de
handgreep en draai deze vast met een sleutel. Houd vervolgens de
handgreep met één hand vast en klem de schroef met de boor vast met de
andere hand (zorg ervoor dat u tegen de klok in begint), zodat de schroef
voor de boor kan worden verwijderd.

-12-



M | ] s S & »

OPMERKING: Steek nooit uw hand in de machine als deze draait (u moet
de machine stoppen voordat u de machine controleert, debugt en
problemen oplost). Om te voorkomen dat u uw hand snijdt , Raak het mes
niet rechtstreeks met uw hand aan .

-13-



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-14 -



-15-



VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support



VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

WIRE STRIPPER MASKIN
BRUKSANVISNING

We continue to be committed to providing you with tools at a competitive price. "Save Half",
"Half Price" or any other similar expressions used by us only represent an estimate of
savings you might benefit from buying certain tools with us compared to the major top brands
and does not necessarily mean to cover all categories of tools offered by us. You are kindly
reminded to verify carefully when placing an order with us if you are actually saving half

compared to the top major brands.



VEVOR® WIRE STRIPPING

TOUGH TOOLS, HALF PRICE MACHINE

MODELL:SD-25

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Operation Guide video ‘ l; -

Technical Parameter

Dimensionera . Avisolering R ange
Modell Vikt (k
o€ | (L*B*H mm) kt(ka) | m)
SD-25 130x128x300 3,4 kg s 1,56~ 2 25

Obs: denna maskin ar inte tillamplig pa silikongummikablar eller armerade kablar .



F

130

128

00E



Parts List

s =
[ ] H 1
T_ef 2
(DANGER
® 3
KEEP HANDS CLEAR
9 1(}1_‘
|1 #—t+—+—8
© @_Kj E—— 7
6—i—& |||
[l 4

1:M14 plastmutter for att reglera blad upp och ner
2:M14 skruvstang for reglering av blad upp och ner
3: Handtag 4:Inkommande panel

5: Mutter for lasskruvstang 6: Matningshal

7:10#Skruva for anslutning av borr 8: Avisolering av rullvaxel 9 : Blad

Ett tillbehor



Detaljer:

1. En4#insexnyckel 2. En 5# insexnyckel

3. En6#insexnyckel 4. En matningsplatta
5, fem D8-packningar

6. F var M8 mutter 7. F var M8+*35 skruv

8. En M8*16 inre sexkantskruv

9 . En 10#skruv for anslutning av den elektriska borren
10, Ett blad
Operation Instruction

1. Valj lampligt matningshal enligt traddiametern .

-5-



© @)

®1.5~@5

$6—~013

16.Nar diametern pa tradarna som ska behandlas inte 6verstiger 13 mm,
valj det tvahaliga inkommande kortet.

17.Nar diametern pa tradarna som ska behandlas dverstiger 13 mm, val;
ett hal for inkommande brada .

4. Under avisolering av trad maste bladets mitt vara i linje med mitten av

-6-



det rullande kugghjulet (som visas nedan).

During wire
stripping, the
center of the ()
blade must be =~
collinear with

the center of
rolling gear

5. Justera bladets hojd . Det ar bast att fa bladet att repa tradhuden utan att
skada kopparkarnan genom att vrida plasthandtagsskruven (medurs
rotation ar nedat och moturs rotation ar uppat) , som visas nedan .

-7-



6. Vid strippning, justera héjden pa matningsplattan efter tradens tjocklek
och hardhet (i allmanhet bor matningspanelen justeras hogre for tjocka och
harda tradar och lagre for mjuka och tunna tradar). Pa sa satt ar traden inte
latt att vara excentrisk vid strippning .

)

(°)
(

7. Nar diametern pa traden som ska behandlas inte dverstiger 20 mm , de
tva rullande kugghjulen behdver inte separeras .



the diameter
of wire to
be treated
does not
exceed 20mm

When the diameter of
wire to be treated

does not exceed 20mm,
the two rolling gears
need not be separated

Nar diametern pa traden som ska behandlas 6verstiger 20 mm, maste de
tva rullande kugghjulen separeras genom att lossa de tva skruvarna i
kugghjulen.

When the
diameter of
wire to be
treated
exceeds 20mm,

When the diameter of .
wire to be treated

exceeds 20mm, the two ‘

rolling gears need to be

separated by loosen the

two screws in the gears.

8. Om maskinen inte kan skala traden kan det finnas flera anledningar:
-9-



(D. Diametern pa den avskalade traden ar for liten (diametern pa traden
som ska behandlas, inklusive den yttre huden, ska inte vara mindre an 1,5
mm) .

(2 Mitten av bladet ar inte paA samma linje som mitten av det rullande
kugghjulet.
(3. Bladet &r inte vasst .

9. Nar maskinen manévreras for hand, installera handtaget (som visas i
bilden)

-10 -



10. Nar maskinen drivs av en elektrisk borr, ta bort handtaget férst,
installera sedan anslutningsskruven fér borren (montera inte en packning
nar du installerar skruven), och anvand den elektriska borren sist.

11. Nar det ar nédvandigt att ta bort skruven for borren (som visas i figuren
ovan), installera handtaget och dra at det med en skiftnyckel forst, hall
sedan handtaget med en hand och klam fast skruven med borren med
andra handen (se till att starta moturs), sa att skruven for borr kan tas bort.

-1 -



OBS: Stick aldrig in handen nar maskinen ar igang (du maste stoppa
maskinen innan du kontrollerar, felsoker och felséker maskinen). For att
undvika att skara dig i handen , R&r inte bladet direkt med handen .

-12 -



Small hole is on the top,
and the inlet plate is

fixed with screws at hole
14

Big hole is on the top, and
the inlet plate is [ixed
with screws at hole 1 #

The inlet plate is fixed
with screws at hole 2 &

Blade. Blade

Incoming board
C5MM+13MM)

e

Incoming board 2
(25MMD

—
~2g.
0%~

Rolling
gear

[

2

Figure 1 Figure 2

Incoming board 1
The concave side faces the
blade (there is a concave
side at the small
hole) There is an obvious
angle between the inlet
hole and the tangent line

Figure3

Incongming board 1

There is an obvious angle
between the inlet hole and
the tangent line

Incongming board 2
The concave side faces the
blade, and the inlet hole
is basically aligned with
the tangent line or
slightly lower

-13 -



-14 -



VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support



